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Le Verrier, the French mathematician who in 1859 claimed that the slow precession of Mercury's orbit around the Sun could not be completely explained by Newton's - Kepler's Mechanics including the Pertubation of other planets or flying Debris or Sun Irregularities and he suggested that there is a planet close to the Sun later named Vulcan that can explain the slow presession of Planet Mercury. In those days the french came up with Lagrangian dynamics notation to end using Newton's - Kepler's equation notations not because it is a new physics but because it is a different notation of the same thing and did there best to tell the English-Germans scientists the french are better mathematicians  and here is an example or French - English - German Rivalery that in Le Verrier rush to promote french intelligence he ended up making a french road to let German Relativity mistake to go through with the help of an Englishman  named Lord Eddington. 

This one mistake reversed Darwin's theory: 

Ape > Man > PHD > Nobel Prize > Ape's ASS

This one mistake brought new physics of 20th century and it is all wrong and in this article I will show that all Modern Astronomy is more like ASS - tronomy a waste from start to end because all astronomical measurements are wrong because the math of Le Verrier is wrong and he is a mathematician that did physics and physicist took the physics of a mathematician who had no clue what he is doing like most PHD Noble prize winner Physicists that has a collective value of trillion lost and trillions won in the eyes of scientifically ignorant western governments and fortune hungry scientific institutions.
Abstarct: The Newton's - Kepler's equation can explain all planetary motion correctly and it can explain the slow precessional motion as a visual effect that came out as a result of miscalculation by Le Verrier   
Actual value is θ' = v/r = v (m)/r + [v* (e) + v° (e)]/r

Used value:  θ' = v/r = v (m)/r 

Missing Value θ' = [v* (e) + v° (e)]/r

The Mistake is θ'(e) = [v* (e) +/- v° (e)]/r (180/π) (3600) (36526/T)  

And v* (e) = Earth orbital velocity = 29.8 km/sec

And v° (e) = Earth rotational velocity = 0.465 

And v* - v ° = 29.335km/sec

With Areal r²θ' = h = r v; θ' = v/r Kepler's law

Or Angular Velocity θ' = v/r from my 5th grade book Arithmetic book
The 400 years Mistake is measurements of θ' = v/r

If we are measuring this angular velocity from Earth for Mars then:

Astronomers use:

This, θ' = v/r = v (m)/r = velocity of Mercury / Distance of Mercury from the Sun

But the Actual value is θ' = v/r = v (m)/r + [v* (e) + v° (e)]/r 

The Missing Value θ'(e) = [v* (e) + v° (e)]/r is the mistake 

And θ'(e) = [v* (e) + v° (e)]/r radians/second
The Mistake is θ'(e) = [v* (e) +/- v° (e)]/r (180/π) (3600) (36526/T)  

For Mercury

And v* (e) = Earth orbital velocity = 29.8 km/sec

And v° (e) = Earth rotational velocity = 0.465 
And v* - v ° = 29.335km/sec

And r (Mercury) = (58.2 x 106 km)

And r = Mercury's (planet) mean distance   

And θ' = (29.335km/sec)/ (58.2 x 106 km) radians/second
           = [(29.335km/sec)/ (58.2 x 106 km)] [(180/π) (3600) (36526/88)] arc sec /century
           = 43.1" arc-sec/100 years  

For Venus:  θ' = (29.335km/sec)/ (108.2 x 106 km)

           = [(29.335km/sec)/ (108.2 x 106 km)] [(180/π) (3600) (36526/224.7)] 

           = 9.09" arc-sec/100 years 

The problem is that we are measuring Mercury's Perihelion around the sun not from the sun but from Earth and If Mercury's perihelion was measured from the sun then it would not be there.

When you measure Mercury Perihelion around the sun from earth you introduced Earth motion into play divided by the distance (mercury). 
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If you measuring processional motion (a b) of mercury from Earth CE then, If Earth and mercury were going at the same angular speed then it is the same angle; whether it is angle A a b or ACD because DE will be Zero

 

When we are measuring angular velocity of Mercury with respect to fixed stars from moving earth θ' = (v/r); v = [v (mercury) + v (earth)]/r = v(mercury)/r + v(earth)/r
Astronomers accounted for v (mercury)/r 

And left v (earth)/r (planet)  
Angle a A b = v (m)/r is the amount of angle per specified time if measured from mercury and when measured from Earth for Mercury

The angle b A c is not accounted for.

It is time to end Einstein's relativity and the 100,000 living physicists say and the 100,000 dead physicists had said this angle θ'(e) = [v* (e) + v° (e)]/r (180/π) (3600) (36526/T)  it is due to time Travel?! H a h a h a h a h a h a h a h a h a h a h a h a. Time Travel is not physics  
In Binary Stars the problem is different
We measure things from the center of Mass

But the Actual value is θ' = v/r = [v (m) + v (M)]/r
And v (m) = √ [GM²/ (m + M) a] 

And v (M) = √ [GM²/ (m + M) a] 

And v (m) = √ [GM²/ (m + M) a] + v (M) = √ [Gm²/ (m + M) a] 

                  = √ [G (m + M)/ a] 

And θ' = v/r = [v (m) + v (M)]/r
          = √ [G (m + M)/ a³] Radians per seconds

In degree per century

Then θ' = {√ [G (m + M)/ a³]} x (180/π) (36526/T)
For example: Harvard - Villanova Idiots

DI Herculis Apsidal motion solution

With m = 5.15 M (0) and M = 4.52 M (0); G = 6.673 x 10- 11; a = 43.2 R (0)

And M (0) = 2 x 1030 kg; R (0) = 0.696 x 109 meters; T = 10.55 days  
Then θ' = {√ [G (m + M)/ a³]} x (180/π) (36526/T)

Or, θ' = {√ [6.673 x 10- 11 (9.67) x 2 x 1030/ (43.2 x 0.696x109)³]} (180/π) (36526/10.55)

And θ' = 1.36°/ century
And U = [θ' /100] x 360 = 26338 years
As Camelopardalis Apsidal motion solution
With m = 3.3 M (0) and M = 2.5 M (0); G = 6.673 x 10- 11; a = 15.16 R (0)

And M (0) = 2 x 1030 kg; R (0) = 0.696 x 109 meters; T = 3.431 days  
Then θ' = {√ [G (m + M)/ a³]} x (180/π) (36526/T)

Or, θ' = {√ [6.673 x 10- 11 (5.8) x 2 x 1030/ (15.16 x 0.696x109)³]} (180/π) (36526/3.431)

And θ' = 15.657°/ century
 And U = [θ' /100] x 360 = 2300 years
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